Comprehensive Review #1

Topics:
Lesson 14 - Rectangular and Polar Coordinates
Lesson 79 - Roots of Complex Numbers

1. Describe the vector using polar notation.
AN

—227°

[A] 4,-227°) or a [
[B] (-4, 133°) or -4@
[C] 4,47°) or afare

[D] (4,227°) or afor



2. Describe the vector using polar notation.

y

—-56°

[A] (6,-56°) or 6/=56°
[B] (-6, 56°) or 6 /56"
[C] (-6, 304°) or -6@
[D] (6,-124°) or -6@

3. Describe the vector using polar notation.

Y

|/ x

—122°

[A] (7,238°) or 7 L8
[B] (-7, 122°) or 7f122°
[C] (7,-122°) or 1z

[D] (7,-58°) or —7{=58°



4. Describe the vector using polar notation.

y

=

[A] (-2,-127°) or —2{Z12T°
[B] (2,127°) or 72M
[C] (-2, 53°) or ~2[s3°_
[D] (2,307 or 2307

5. Convert —2.1i +2.8; to polar coordinates. (Write four forms for the point.)

[A] 35f12690 . 3sf30690 . 3s/3069 . -3s/-1269°
[B] 35/ asfase L ss/anre 0 s/-sae
[C] ssfsaae, casfamae . asfaese . /o169
(D] 3sf260° . casfaese , asfasnae L as/osiae

6. Convert —2i—4.8; to polar coordinates. (Write four forms for the point.)

[A] sofarae . soferas . safone . —s2f296
(B] sofme . safene, saf-ine , —safa9e
[C] sofurae | saferac . sofamac | saf-isiee
[D] sofme . safane , safyiae . sofasiae

7. Convert 7/30°  to rectangular coordinates.



8. Convert s5/300° to rectangular coordinates.

9. Convert 3/315° to rectangular coordinates.

10. Convert 7/1s50° to rectangular coordinates.

3
11. Use De Moivre's theorem to find [1 - \/§,) . Write the answer in rectangular

coordinates. Give an exact answer.

[A] —28+16+2i

[B] -8
[C] —47+8/3i
D] =2~

3
12. Use De Moivre's theorem to find [3 — ‘\/gr) . Write the answer in rectangular
coordinates. Give an exact answer.

[A] —4096—4096i

[B] —24+/3i
[C] 16—42i

[D] 837-1062+/3i

13. Use De Moivre's theorem to find (1 — i)g. Write the answer in rectangular
coordinates. Give an exact answer.

[A] —2-2i
[B] —28+16v2i

[C] —47+83i
[D] —316-12i



14. Find three cube roots of 64 cis 45° and express them in polar coordinates.
[A] 4 cis 15°,21.33 cis 75°, 4 cis 255°
[B] 21.33 cis 15°, 4.¢is.1357, 21.33 ¢is 135"
[C] 4 cis 15° 4 cis 135°, 4 cis 255°
[D] 21.33¢is:15°, 21.33 ¢is 75°,:21.33 cis 135°

15. Find three cube roots of 216 cis 150° and express them in polar coordinates.
[A] 6 cis 50°, 6 cis 170°, 6 cis 290°
[B] 6 cis 50°, 72 cis 110°, 6 cis 290°
[C] 72 cis 50°, 6 cis 170°, 72 cis 170°
[D] 72 cis 50°, 72 cis 110°, 72 cis 170°

i

16. Find three cube roots of 27 cis 30° and express them in polar coordinates.
[A] 9cis 10°, 3 cis 130°, 9 cis 130°
[B] 3 cis 10°, 9 cis 70°, 3 cis 250°
[C] 9 cis 10°, 9 cis 70°, 9 cis 130°
[D] 3 cis 10°, 3 cis 130°, 3 cis 250°






